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WALT: understand line graphs SO THAT we can Interpret and present discrete and continuous data using
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1a. freya makes a line graph fo show the
growth of her younger brother sam over
three months. Is it correct? Explain your
answer.
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2a. ‘Speed of o Runner

(At 10 mins he is running W
at akm per hour.

At 10 mins he is running *

at skm per hour. =
Heidi

!

p. Explain who is correct.
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4a. Ibrahim makes a
how the temperature in @ room increased
atfirst, was hoftest in the early afternoon
and cooled off again later on. s it
correct? Explain your answer.
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Mon e Wea T

Doy of he Week
‘ On Wednesday, there
- was 40ml of honey.
Haleem
Thursday is honey ﬁ
collectionday.
N Explain who is correct.  Hannah
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() ™ i aroph shows the rovah of same s over 10 d.

height (em)

) How toll wes the cress on Doy 22 an
1) On whot doy did the ress reach 10 em? doy
) Estimate the height of the cres on Doy an

@ Estimata when the ress will reach @ height of 14 am,

doy

) Betwaen which two consecutive days did the cress grow
the mestz

day[ ] ond doy|
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(©) Tt roph hows th distance it el on ke ride
@ il the isiog b

distance cycled (mile)

time token (hours)

b) How lon did it toke the cycist to trovel 10 miles?

[ b

© How for had the cydist trovelled after 4 hours?
@ How for did the cycist rouel in totol?

) How for did the cucls travel between 4 ond § hours?

o

1) Whot might hove happened during this time?
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2a. Tuesday to Wednesday
3a. Line from skg fo 7kg.
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5a. écm, 20minutes
&a. Line graph that accurately represents
the data given.
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1a.The line graph is incorrect because the
labels on the axes have been swapped
and the months should be consecufive.
2a. Heidi is correct because she has read
the minutes on the x axis and the speed
on the y axis.





image18.png
. The line graph is incorrect because the
ine should increase in the morning and
gradually decrease in the afternoon.

Sa. Hakeem s correct as he has correctly
read from the scale that 40ml of honey is
in the hive on Wednesday. Grace could
also be correct as the amount of honey is
0 on Thursday.
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“The cyclist might have stopped for a rest or to eat something.
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Belong, Aspire, Achieve.
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2a. Use the line graph o fill the gaps.

Height of a Beanstalk
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3a. Use the data fo complete the line
graph.
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5a. Use the line graph fo fill in the gaps.

Length of Kniing

Length (cm)
onseed

s 10 20 30 4
Length of time (mins)

After 10 minutes the knitting was___cm
long. The knitting was 8cm long after
minutes.
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4a. Use the data to complete the line.
graph.
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